Maths Week 6

Parents please show them the PowerPoint slides for Year 3&4 to introduce them to the topic.  

Your child knows which sheets they usually do in class. The sheets are labelled with:
D means Developing (easy)
E means Expected (middle)
GD means Greater Depth (challenging) 

Once they finish the developing, they can do the expected worksheet for their challenge. 

The expected children can progress to greater depth once they finish the expected questions. 

Make sure you write your L.O and date in your book. There is one PowerPoint for each day.  

Please note- You do not have to print out any work. Children should date and number their work and show any working out in their books like they usually do in class.












Wednesday 29th April 2020 
Please click on this link for more information - https://www.youtube.com/watch?v=aAc1gyhEA1g
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1a. Sam and Alex both want fo buy an
ice cream. An ice cream costs £1.25.

Sam says, "l have a £1 coin, a 20p coin
and a 5p coin.”

Alex says, “I have a £1 coin and a 5p
coin.”

Who can afford fo buy an ice cream?
Explain how you know.

w .

1b. Max and Jay both want fo buy a
packet of crisps. A packet costs £1.10.

Max says, “I have a £1 coin, a 5p coin
and @ 2p coin.”

Jay says, “I have a £1 coin and a 5p coin
and a 10p coin.”

Who can afford to buy the crisps?
Explain how you know.

w .

2a. Jon has £2.50. Annie has £1.25. Match
each child to their correct money purse.

Jon

2b. Sam has £1.50. Manon has £1.30.
Match each child fo their correct money
purse.

3a. Jack has £1.15 in his wallet. He has
three coins.
What are the three coins Jack has?

3b. Sophie has £1.60 in her wallet. She has
three coins.
What are the three coins Sophie has?

A
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4a. Liam and Laura both wanttobuy a | 4b. Usman and Belle both want to buy a
football. A football costs £3.75. burger. A burger costs £2.20.

Liam says, “I have two £1 coins, three 50p | Usman says, “I have a £1 coin, wo 20p
coins a 20p coin and a 5p coin.” coins, a 50p coin and three 5p coins.”
Laura says, *I have three £1 coins, two Belle says, “I have a £1 coin and six 20p
20p and five 5p coins.” coins.”

Who can afford o buy a football? Who can afford to buy a burger?
Explain how you know. Explain how you know.

W W

5a. Erin has 10p more than Zak. Match 5b. James has 15p less than Quinn. Match
each child o their correct money purse. | each child fo their correct money purse.
Write down how much they each have in | Write down how much they each have in
pence and in decimals. pence and in decimals.

Erin

4a. Awais has £2.20 in his wallet. He has | éb. Amelia has £1.30 in her wailet. She
four coins. has four coins.
Which coins could Awais have? Which coins could Amelia have?
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7a. Kyle and Erin both want fo buy a
basketball. A basketball costs £4.50.

Kyle says, *I have three £1 coins, a 20p
coin, two 50p coins and three 5p coins.”

Erin says, “I have two £1 coins less and
three 50p coins more than Kyle”.

Who can afford to buy a basketball?

Explain how you know.

# -

7b. Jack and Tamina both want fo buy a
rubber duck. A rubber duck costs £2.80.

Tamina says, “I have a £1 coin, seven 20p
coins and four 5p coins.”

Jack says, “I have one more £1 coin and
4 less 20p coins than Tamina.”

Who can afford to buy a rubber duck?
Explain how you know.

% .

8a. How much does each child have?
Write your answer in pence and in
decimals.

Ihave six two pound coins,
one fifty pence coin and two
fen pence coins.

Kevin

1have aten pound nofe, one
1wo pound coin and three
twenty pence coins.

Leah

*

8b. How much does each child have?
Write your answer in pence and in
decimals.

I have afive pound nofe,
four one pound coins and
eight twenty pence coins.

Nell

I have a ten pound note, a
five pound nofe and thirfeen
50 pence coins.

Lucas

% g

9a. Alfie has £11.40 in his piggy bank. He
has one note and five coins.

What combinations could Alfie have?
Find two different ways.

9b. Ryan has £12.75 in his wallet. He has
one note and six coins.

What combinations could Alfie have?
Find two different ways.





